Revised Purchase Order



Sales Tax Exemption

Texas A&M University is exempt from state and municipal sales taxes under Chapter 20 Title 122A, revised Civil Statutes of Texas, for all purchases made for the exclusive use of Texas A&M.

The laws of the State of Texas shall govern this Purchase Order.

Member of the Texas A&M University System.

Purchase Order						
Purchase Order Date	PO/Reference No.	Revision No.	Revision Date			
Nov 15, 2024	AB0975698	1	Nov 20, 2024			

Contact instructions for questions regarding this Purchase Order:

If Buyer Contact information is listed below, please contact the Buyer.

If not, please contact the Customer.

Buyer Contact:

Buyer	Buyer Email	Buyer Phone Number
cjt - Toler, Cherise	ctoler@tamu.edu	979.845.5887
Customer Contact:		
Name:	Stacy Gilley	
Email:	SLGILLEY@TAMU.EDU	J
Phone:	+1 979-458-2576	

Order acceptance instructions:

For Order Acceptance Instructions and other Terms and Conditions applicable to this PO, see the "Notes to Supplier" section below.

Supplier Information		De	elivery Information		
Supplier Name	TAURUS TECHNOLOGIES INC	Delivery Address			
Address	1420 LAKESIDE PKWY STE 100	TAMUS Member:	02-Texas A&M University (02)		
	FLOWER MOUND, Texas 75028 United	Attn	Dale Sharp		
	States	Provost IT Office			
Phone	+1 469-630-9918	GSC			
FOB / FREIGHT	Destination	Suite	2501		
Pre-Pay & Add	No	750 Agronomy Rd			
Payment Terms	0, Net 30	4486 TAMU			
Contract Number - Header	TIPS 240101	College Station, TX 77843			
Contract Number - Line	no value	United States			
Ouote number		Delivery Information			
Quote number		Required Delivery Date			
		Ship Via	Best Carrier-Best Way		

Notes to Supplier

Shipping Instructions

Note to Supplier

Supply and Installation of AV upgrade in the JKW Administration Building, 3rd Floor, Room 315C as per TIPS agreement # 240101 and attached installation terms and conditions. Reference quote # CE021011

Payment Terms shall be 100% Net 30 Upon completion and acceptance of installation or receipt of invoice, whichever comes later

Shipping Terms shall be FOB Destination

It shall be the responsibility of the vendor to maintain a valid COI on file with Texas A&M Procurement Services when performing work against this PO.

Attachments for supplier

FileOpen-2.pdf
Texas A&M Install...
Attachment A - Mi...

PO Clauses

Header	001	No Collect Freight Charges Accepted	Neither COD nor "Collect" freight or handling charges will be accepted.
	100	Order Acceptance Instructions - TAMU	Vendor guarantees that the products delivered, or the services performed, as a result of this Purchase Order will meet or exceed all specifications herein. Any exceptions to the pricing or the description contained herein must be approved by Texas A&M's Department of Procurement Services in writing prior to shipping or performance. This Purchase Order is governed by the laws of the State of Texas and Texas A&M's Terms & Conditions (the version that is effective as of the Purchase Order Date or the Revision Date specified above, whichever is later), which are incorporated into and made a material part of any Purchase Order issued by Texas A&M.
	102	Terms & Conditions - TAMU	Terms & Conditions - Texas A&M University -This purchase order is issued on behalf of Texas A&M University and is governed by the Terms & Conditions found online: http://purchasing.tamu.edu/_media/tamu-bid-terms1.pdf

Line No.	Product Description	Catalog No.	Size / Packaging	Unit Price	Quantity	Ext. Price
1 of 41	24436 DA-LITE UTB CONTOUR,BLACK DM 123D	24436	EA	1,962.00 USD	1 EA	1,962.00 USD
		1			1	
2 of 41	PT-VMZ71U7 Pansonic WUXGA 1920 X 1200 7000 LMNS LCD LASER PROJECTOR 4K - White	PT-VMZ71U7	EA	3,839.00 USD	1 EA	3,839.00 USD
					1	
3 of 41	SYSAUW CHIEF SYSTEM, SUSP CEILING PROJ 0-12", WHITE	SYSAUW	EA	377.00 USD	1 EA	377.00 USD
		I				
4 of 41	QB65C Samsung 65-inch Commercial 4K UHD Display, 350 NIT	QB65C	EA	1,191.00 USD	2 EA	2,382.00 USD
		ı				
5 of 41	QB85C Samsung 85-inch Commercial 4K UHD Display, 350 NIT	QB85C	EA	1,746.00 USD	1 EA	1,746.00 USD
		I				
6 of 41	TS525TU CHIEF THIN SWING ARM (LARGE) (65" DISPLAYS)	TS525TU	EA	487.00 USD	2 EA	974.00 USD
		I				
7 of 41	FHB5147 CHIEF HARDWARE KIT (65" DISPLAYS)	FHB5147	EA	12.00 USD	2 EA	24.00 USD
		I				
8 of 41	PAC526FW CHIEF WALL ENC,16X16,MTI-D,PRE/PST INST-WHITE (65" DISPLAYS)	PAC526FW	EA	123.00 USD	2 EA	246.00 USD
		l				
9 of 41	R9861611USB2 Barco ClickShare C-10 Gen2 - 2 Buttons	R9861611USB2	EA	1,467.00 USD	1 EA	1,467.00 USD
		I				
10 of 41	R9861600P01CUS Barco CLICKSHARE TRAY+ (2) BUTTONS SET Only compatible with CX & C Series	R9861600P01CUS	EA	311.00 USD	2 EA	622.00 USD

11 of 41	R9861600D01CUS Barco CLICKSHARE BUTTON USB-C for C-5,C-	R9861600D01CUS	EA	245.00	2 EA	490.00
	10 and CX Series	ı		USD		USD
12 of 41	5114-001 Contemporary Research 232-ATSC 4K HDTV Tuner	5114-001	EA	900.00 USD	1 EA	900.00 USD
		I				
13 of 41	RCU2-B2A8 SCT Aver: CAM520PRO CAM520PRO 2 Cam520PRO Advanced VC520PROVC520PRO2***Huddlecam: HC12X-HUDDLEVIEW HC20X-SIMPLTRACK2 RemoteCamRCU2™[USB2.0 + UVC + Serial Control Loop + 5/12V Camera Power]	RCU2-B2A8	EA	954.00 USD	1 EA	954.00 USD
14 of 41	60-1834-01 Extron SW4 USB Pro Four Input USB 10G Switcher	60-1834-01	EA	966.00 USD	1 EA	966.00 USD
		l				
15 of 41	NMX-DEC-N2622S AMX N2600 Decoder, Dual Stream Codec, 4K60 4:4:4	NMX-DEC-N2622S	EA	1,050.00 USD	5 EA	5,250.00 USD
16 of 41	NMX-ENC-N2612S AMX N2600 Encoder, Dual Stream Codec,	NMX-ENC-N2612S	EA	1,050.00	6 EA	6,300.00
10 01 41	4K60 4:4:4	NIVIA-EINC-INZO123	LA	USD	O LA	USD
17 of 41	NX-2200 AMX NX-2200 NetLinx NX Integrated Controller with 512 MB RAM, 1600 MIPS Processor, 8 UK ofFLASH, 4 Serial Ports, 4 IR Ports, 4 I/O Ports, 4 Relays, IPv6, and Dual NIC	NX-2200	EA	1,555.00 USD	1 EA	1,555.00 USD
18 of 41	GSM4230UP-100NAS Netgear M4250-26G4F-POE++ MNGD SWITCH PERP	GSM4230UP- 100NAS	EA	2,270.00 USD	1 EA	2,270.00 USD
		I				
19 of 41	VARIA-100N AMX Varia, 10.1" Professional-Grade Persona- Defined Touch Panel (No-Comm)	VARIA-100N	EA	1,680.00 USD	1 EA	1,680.00 USD
20 of 41	AMX-UMT1001 AMX Varia, Fixed Tabletop Stand for VARIA-100 &	AMX-UMT1001	EA	135.00	1 EA	135.00
	VARIA-100N	ı		USD		USD
21 of 41	CRED3V-S Avteq 3-bay AV cabinet includes single 45-98in display mount, 12RU sliding, rotating rack, rack-mount 6-port power strip, door knobs, and leveling feet. Camera mount not included. Choice of Veneer (V) finish. Made to order. TAA compliant.	CRED3V-S	EA	4,726.00 USD	1 EA	4,726.00 USD
		ı				
22 of 41	SR-12 Avteq Sliding, rotating 12RU rack for 2-bay or 3-bay credenza. TAA compliant.	SR-12	EA	765.00 USD	1 EA	765.00 USD
23 of 41	PL-PRO DMC Furman Rack mount power conditioner w/light	PL-PRO DMC	EA	514.00	2 EA	1,028.00

24 of 41	NMX-ACC-N9102 AMX 1RU rack shelf for rack mounting two side-by-side SVSI N-Series Encoders, Decoders, andAudio Transceiver	NMX-ACC-N9102	EA	165.00 USD	4 EA	660.00 USD
25 of 41	U1V MIDDLE ATLANTIC 1SP VENTED UTILITY SHELF	U1V	EA	48.00	2 EA	96.00
		ı		USD		USD
26 of 41	RSH4A3S MIDDLE ATLANTIC CUS RACKSHLF3SP ANOD 11.5	RSH4A3S	EA	121.00	2 EA	262.00
20 01 41	KSH4A33 MIDDLE ATLAINTIC COS RACRSTILESSE AINOD 11.3	RSH4A3S	EA .	131.00 USD	2 EA	262.00 USD
27 of 41	LBP-1A MIDDLE ATLANTIC 10 PACK L LACER BAR	LBP-1A	EA	35.00	1 EA	35.00
27 01 1.	EDITATION DE MEMORIE DE MANAGEMENT DE MANAGE	LDI IA	<u>.</u> ,	USD		USD
28 of 41	EB1-CP12 MIDDLE ATLANTIC 12PC. EB1 CONTRACT PACK	EB1-CP12	EA	86.00	1 EA	86.00
20 01 41	EBT-CF12 MIDDLE ATLAINTIC 12FC. EDT CONTINACT FACK	EBI-CPI2		USD	I LA	USD
29 of 41	MISC Miscellaneous Cables, Connectors and Hardware.	MISC	EA	1 090 00	1 EA	1,080.00
29 01 41	MISC Miscellaneous Cables, Connectors and Hardware.	MISC		1,080.00 USD	I EA	USD
		· ·				
30 of 41	26-663-06 Extron HDMI Ultra/6 4K Premium High Speed HDMI Ultra-Flexible Cable - 6' (1.8 m)	26-663-06	EA	52.00 USD	9 EA	468.00 USD
24 (44	CC CCC 40 5 : UCC UUIL /40 4/ D. minor Uich Connel UDAU			CF 00	4.54	CF 00
31 of 41	26-663-12 Extron HDMI Ultra/12 4K Premium High Speed HDMI Ultra-Flexible Cable - 12' (3.6 m)	26-663-12	EA	65.00 USD	1 EA	65.00 USD
		•		· · · · · · · · · · · · · · · · · · ·		
32 of 41	26-713-01 Extron DPM-HDF/0.5 4K PLUS DisplayPort Male to HDMI Female Active Adapter Cable - 6" (15 cm)	26-713-01	EA	78.00 USD	3 EA	234.00 USD
33 of 41	CG54175 C2G 3m USB 3.0 AM-BM CBL BLK (USB switcher to user	CG54175	EA	10.00	1 EA	10.00
33 3	use)			USD		USD
34 of 41	CG28832 C2G 6ft USB MALE C TO A MALE 3.2 GEN 1 3A (USB	CG28832	EA	14.00	2 EA	28.00
	switcher to PC 1 and PC 2)	1		USD		USD
35 of 41	CG28859 C2G 6ft USB 2.0 Type C to Standard B (cam to USB	CG28859	EA	11.00	1 EA	11.00
	switcher)	1		USD		USD
36 of 41	CG28102 C2G 2m USB 2.0 A/B CBL BLK (DSP to USB switcher)	CG28102	EA	4.00 USD	1 EA	4.00 USD
		I				
37 of 41	TT-BRSO-1 1st Year Taurus Technologies Blue Ribbon Support Plus:	TT-BRSO-1	EA	5,030.00 USD	1 EA	5,030.00 USD
		T				- 222 22
38 of 41	TT-PM Project Management: Includes Project Coordination for Site Readiness, Scheduling, On-Site Supportfor Field Staff During	TT-PM	EA	2,280.00 USD	1 EA	2,280.00 USD

	Integration, and Any Necessary On-Site / Remote Coordination Meetings.	1				
39 of 41	TT-DESIGN Custom Design of Project:	TT-DESIGN	EA	2,630.00 USD	1 EA	2,630.00 USD
40 of 41	TT-INSTALL Taurus Technologies Custom Installation of ALL Above Listed Equipment & Complete Training.	TT-INSTALL	EA	9,720.00 USD	1 EA	9,720.00 USD
41 of 41	Shipping	na	EA	1,250.00 USD	1 EA	1,250.00 USD
		1		otal	64.60	7.00 USD

Billing	g Infor	mation
D	9	

To assure timely payment please e-mail invoices to the email provided in the bill to address. If the invoice is sent via email, please do not send a duplicate copy through the mail. Only if email is not an option then submit invoices to the billing address indicated in the "Billing Address" section. To inquire about electronic invoicing via cXML, CSV or PO flip through the supplier portal, e-mail vendorhelp@tamu.edu.

Invoice must include the PO/Reference number shown above.

Billing Address

Texas A&M University-Accounts Payable

Do Not Mail Invoices
Email invoices to invoices@tamu.edu
750 Agronomy Rd Suite 3101
6000 TAMU
College Station TV 77843, 6000

College Station, TX 77843-6000 United States